

ON WILKER–TYPE INEQUALITIES

LING ZHU

(communicated by P. Bullen)

Abstract. In this note, two Wilker-type inequalities involving hyperbolic functions are established.

1. Introduction

J. B. Wilker [1] proposed two open questions as the following statements:

(a) If $0 < x < \pi/2$, then

$$\left(\frac{\sin x}{x}\right)^2 + \frac{\tan x}{x} > 2. \tag{1}$$

(b) There exists a largest constant c such that

$$\left(\frac{\sin x}{x}\right)^2 + \frac{\tan x}{x} > 2 + cx^3 \tan x \tag{2}$$

for $0 < x < \pi/2$.

J. S. Sumner et al. [2] affirmed the truth of the Problems above and obtained a further results as follows

THEOREM A. *If $0 < x < \pi/2$, then*

$$\frac{16}{\pi^4}x^3 \tan x < \left(\frac{\sin x}{x}\right)^2 + \frac{\tan x}{x} - 2 < \frac{8}{45}x^3 \tan x. \tag{3}$$

Furthermore, $16/\pi^4$ and $8/45$ are the best constants in (3).

B. N. Guo et al. [3] gave new proofs of the inequalities (1) and (2). Recently, the author of this paper [4] showed a new simple proof of inequality (1); I. Pinelis [5] got other proof of inequalities (3) by using L'Hospital rules for monotonicity; L. Zhang and L. Zhu [6] gave a new elementary proof of double inequalities (3).

In this note, we establish two Wilker-type inequalities involving hyperbolic functions in the form of inequalities (1) and (2), and obtain the following results.

THEOREM 1. *If $x > 0$, then*

$$\left(\frac{\sinh x}{x}\right)^2 + \frac{\tanh x}{x} > 2. \tag{4}$$

Mathematics subject classification (2000): 26D05, 26D15.

Key words and phrases: Wilker-type inequalities, hyperbolic functions.

THEOREM 2. *If $x > 0$, then*

$$\left(\frac{\sinh x}{x}\right)^2 + \frac{\tanh x}{x} > 2 + \frac{8}{45}x^3 \tanh x. \tag{5}$$

Furthermore, $8/45$ is the best constant in (5).

2. Three Lemmas

LEMMA 1. ([7–9]) *Let $f, g : [a, b] \rightarrow \mathbb{R}$ be two continuous functions which are differentiable on (a, b) . Further, let $g' \neq 0$ on (a, b) . If f'/g' is increasing (or decreasing) on (a, b) , then the functions $\frac{f(x)-f(b)}{g(x)-g(b)}$ and $\frac{f(x)-f(a)}{g(x)-g(a)}$ are also increasing (or decreasing) on (a, b) .*

LEMMA 2. ([10–11]) *Let l_n and m_n ($n = 1, 2, \dots$) be real numbers, and let the power series $L(x) = \sum_{n=1}^{\infty} l_n x^n$ and $M(x) = \sum_{n=1}^{\infty} m_n x^n$ be convergent for $|x| < R$. If $m_n > 0$ for $n = 1, 2, \dots$, and if l_n/m_n is strictly increasing (or decreasing) for $n = 1, 2, \dots$, then the function $L(x)/M(x)$ is strictly increasing (or decreasing) on $(0, R)$.*

In the following, we show a new inequality about hyperbolic functions:

LEMMA 3. *Let $x > 0$, then*

$$\left(\frac{\sinh x}{x}\right)^p > \cosh x \tag{6}$$

holds if and only if $p \geq 3$.

Proof. Let $F(x) = \frac{\log \cosh x}{\log \frac{\sinh x}{x}} = \frac{f_1(x)}{g_1(x)}$, where $f_1(x) = \log \cosh x$, and $g_1(x) = \log \frac{\sinh x}{x}$. Then

$$\frac{f_1'(x)}{g_1'(x)} = \frac{x \sinh x \tanh x}{x \cosh x - \sinh x} = \frac{f_2(x)}{g_2(x)}, \tag{7}$$

where $f_2(x) = x \sinh t \tanh x$, and $g_2(x) = x \cosh x - \sinh x$.

So

$$\frac{f_2'(x)}{g_2'(x)} = \frac{\tanh x}{x} + 1 + \frac{1}{\cosh^2 x}. \tag{8}$$

Because that

$$\left(\frac{\tanh x}{x}\right)' = \frac{2x - \sinh 2x}{2x^2 \cosh^2 x} < 0$$

and

$$\left(\frac{1}{\cosh^2 x}\right)' = -2 \frac{1}{\cosh^2 x} \tanh x < 0$$

for $x \in (0, +\infty)$, we obtain that the function $\frac{f_2'(x)}{g_2'(x)}$ is decreasing on $(0, +\infty)$ by (8).

Then $\frac{f_1'(x)}{g_1'(x)} = \frac{f_2(x)-f_2(0)}{g_2(x)-g_2(0)}$ is also decreasing on $(0, +\infty)$ by Lemma 1. This leads to that

$F(x) = \frac{f_1(x)-f_1(0)}{g_1(x)-g_1(0)}$ is decreasing on $(0, +\infty)$ by Lemma 1.

In view of $\lim_{x \rightarrow 0^+} F(x) = 3$, and $\lim_{x \rightarrow +\infty} F(x) = 0$, the proof of Lemma 3 is complete.

3. A short proof of Theorem 1

From Lemma 3 and arithmetic-geometric mean inequality, we have

$$\left(\frac{\sinh x}{x}\right)^2 + \frac{\tanh x}{x} \geq 2\sqrt{\left(\frac{\sinh x}{x}\right)^2 \frac{\tanh x}{x}} = 2\sqrt{\left(\frac{\sinh x}{x}\right)^3 \frac{1}{\cosh x}} > 2.$$

REMARK 1. In the same way, we can obtain

$$\left(\frac{\sin x}{x}\right)^2 + \frac{\tan x}{x} \geq 2\sqrt{\left(\frac{\sin x}{x}\right)^2 \frac{\tan x}{x}} = 2\sqrt{\left(\frac{\sin x}{x}\right)^3 \frac{1}{\cos x}} > 2$$

using the inequality $\left(\frac{\sin x}{x}\right)^3 > \cos x$ ($0 < x < \frac{\pi}{2}$). That is, we have showed another new simple proof of inequality (1).

REMARK 2. Following the same method as that we had used in proving Lemma 3, the following well-known result (see [12]) reappears:

$$\left(\frac{\sin x}{x}\right)^q > \cos x, 0 < x < \frac{\pi}{2} \tag{9}$$

holds if and only if $q \leq 3$.

4. A concise proof of Theorem 2

Let $H(x) = \frac{\frac{\sinh^2 x \cosh x}{x^2} + \frac{\sinh x}{x} - 2 \cosh x}{x^3 \sinh x} = \frac{A(x)}{B(x)}$, where $A(x) = \frac{\sinh^2 x \cosh x}{x^2} + \frac{\sinh x}{x} - 2 \cosh x$, and $B(x) = x^3 \sinh x$.

Then

$$\begin{aligned} A(x) &= \frac{1}{3x^2}(\sinh^3 x)' + \frac{\sinh x}{x} - 2 \cosh x \\ &= \frac{1}{4x^2}(\cosh 3x - \cosh x) + \frac{\sinh x}{x} - 2 \cosh x \\ &= \frac{1}{4} \sum_{n=0}^{\infty} \frac{3^{2n+2} - 1}{(2n+2)!} x^{2n} + \sum_{n=0}^{\infty} \frac{x^{2n}}{(2n+1)!} - 2 \sum_{n=0}^{\infty} \frac{x^{2n}}{(2n)!} \\ &= \sum_{n=0}^{\infty} \left[\frac{1}{4} \frac{3^{2n+2} - 1}{(2n+2)!} + \frac{1}{(2n+1)!} - \frac{2}{(2n)!} \right] x^{2n} \\ &= \sum_{n=2}^{\infty} \left[\frac{1}{4} \frac{3^{2n+2} - 1}{(2n+2)!} + \frac{1}{(2n+1)!} - \frac{2}{(2n)!} \right] x^{2n} \\ &= \sum_{n=2}^{\infty} a_n x^{2n}, \end{aligned}$$

and

$$\begin{aligned}
 B(x) &= x^3 \sinh x \\
 &= \sum_{n=0}^{\infty} \frac{x^{2n+4}}{(2n+1)!} \\
 &= \sum_{n=2}^{\infty} \frac{x^{2n}}{(2n-3)!} \\
 &= \sum_{n=2}^{\infty} b_n x^{2n},
 \end{aligned}$$

where $a_n = \frac{1}{4} \frac{3^{2n+2} - 1}{(2n+2)!} + \frac{1}{(2n+1)!} - \frac{2}{(2n)!}$, $b_n = \frac{1}{(2n-3)!}$, $n \geq 2$, and $n \in \mathbb{N}^+$.

So

$$\begin{aligned}
 c_n &= \frac{a_n}{b_n} \\
 &= \left[\frac{1}{4} \frac{3^{2n+2} - 1}{(2n+2)!} + \frac{1}{(2n+1)!} - \frac{2}{(2n)!} \right] / \left[\frac{1}{(2n-3)!} \right] \\
 &= \frac{1}{32} \frac{9^{n+1} - 32n^2 - 40n - 9}{4n^5 - 5n^3 + n} \\
 &= \frac{1}{32} h(n),
 \end{aligned}$$

where $h(n) = \frac{9^{n+1} - 32n^2 - 40n - 9}{4n^5 - 5n^3 + n}$, $n \geq 2$, and $n \in \mathbb{N}^+$.

we obtain results in two cases:

(1) Obviously, $h(2) < h(3)$. That is, $c_2 < c_3$.

(2) Let $h(x) = \frac{9^{x+1} - 32x^2 - 40x - 9}{4x^5 - 5x^3 + x}$, $l(x) = \frac{9^x}{4x^5 - 5x^3 + x}$,

$m(x) = \frac{32x^2 + 40x + 9}{4x^5 - 5x^3 + x}$, and $x \in [3, +\infty)$. Then

$$h(x) = 9l(x) - m(x), \tag{10}$$

where $x \in [3, +\infty)$.

In the following we shall prove that the function $l(x)$ is increasing on $[3, +\infty)$ and $m(x)$ is decreasing on $[3, +\infty)$.

(i) We compute

$$l'(x) = \frac{l(x)}{4x^5 - 5x^3 + x} n(x), \tag{11}$$

where $n(x) = (\log 9)(4x^5 - 5x^3 + x) - (20x^4 - 15x^2 + 1)$, and $x \in [3, +\infty)$. Then $n(3) = (\log 9)(840) - 1480 > 0$, and

$$\begin{aligned}
 n'(x) &= (\log 9)(20x^4 - 15x^2 + 1) - (80x^3 - 30x), \\
 n'(3) &= (\log 9)(1484) - 2070 > 0;
 \end{aligned}$$

$$\begin{aligned}n''(x) &= (\log 9)(80x^3 - 30x) - (240x^2 - 30), \\n''(3) &= (\log 9)(2070) - 2130 > 0; \\n^{(3)}(x) &= (\log 9)(240x^2 - 30) - 480x, \\n^{(3)}(3) &= (\log 9)(2130) - 1440 > 0; \\n^{(4)}(x) &= (\log 9)480x - 480 > 0.\end{aligned}$$

So $n(x) > 0$ and $l'(x) > 0$ for $x \in [3, +\infty)$. That is, $l(x)$ is increasing on $[3, +\infty)$.

(ii) Evidently, $m(x)$ is decreasing on $[3, +\infty)$.

Therefore, we obtain that $h(x)$ is increasing on $[3, +\infty)$ by (10).

Combining (1) and (2), we conclude that c_n is increasing for $n = 2, 3, \dots$, and $H(x) = \frac{A(x)}{B(x)}$ is increasing on $(0, +\infty)$ by Lemma 2.

Furthermore, $\lim_{x \rightarrow 0^+} H(x) = \frac{8}{45}$, and $\lim_{x \rightarrow +\infty} H(x) = +\infty$. The proof of Theorem 3 is complete.

REFERENCES

- [1] J. B. WILKER, *E3306*, The American Mathematical Monthly, **96**, (1989), 1–55.
- [2] J. S. SUMNER, A. A. JAGERS, M. VOWE AND J. ANGLÉSIO, *Inequalities involving trigonometric functions*, The American Mathematical Monthly, **98**, (3) (1991), 264–267.
- [3] B. N. GUO, B. M. QIAO, F. QI AND W. LI, *On new proofs of Wilker's inequalities involving trigonometric functions*, Mathematical Inequalities & Applications, **6**, (1) (2003), 19–22.
- [4] L. ZHU, *A new simple proof of Wilker's inequality*, Mathematical Inequalities & Applications, **8**, (4) (2005), 749–750.
- [5] I. PINELIS, *L'Hospital rules for monotonicity and the Wilker-Anglesio Inequality*, The American Mathematical Monthly, **111**, (2004), 905–909.
- [6] L. ZHANG, L. ZHU, *A new elementary proof of Wilker's inequalities*, Mathematical Inequalities & Applications, to appear.
- [7] G. D. ANDERSON, M. K. VAMANAMURTHY AND M. VUORINEN, *Conformal invariants, inequalities and quasiconformal maps*, New York, 1997.
- [8] G. D. ANDERSON, S.-L. QIU, M. K. VAMANAMURTHY AND M. VUORINEN, *Generalized elliptic integral and modular equations*, Pacific J. Math., **192**, (2000), 1–37.
- [9] H. ALZER, S.-L. QIU, *Inequalities for means in two variables*, Arch. Math., **80**, (2003), 201–215.
- [10] S. PONNUSAMY, M. VUORINEN, *Asymptotic expansions and inequalities for hypergeometric functions*, Mathematika, **44**, (1997), 278–301.
- [11] H. ALZER, S.-L. QIU, *Monotonicity theorems and inequalities for the complete elliptic integrals*, J. Comp. Appl. Math., **172**, (2004), 289–312.
- [12] D. S. MITRINOVIC, *Analytic inequalities*, Springer-Verlag, 1970.

(Received November 14, 2005)

Department of Mathematics
Zhejiang Gongshang University
Hangzhou 310035
P. R. China
e-mail: zhuling0571@163.com